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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 509647720
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 50964713463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sorme letters are numbered as 1,2,3,4,5 and &. In the options, four possible arrangements of these nurmbers
are given. Choose the option 50 that the letters form a meaning ful word.

DELOEN
122456

Options:

1. ¥ 534612
Z % 341285
3. % 145362
4. % 153487

Question Number : 1 Question Id : 50964713463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FT AR W 1,2,3,4,5 3% 6 0w [ M7 8 fEwenl #, 57 Gl @i oW §uTicd cHae ] 5F T8 8 99 [dwed @1 ao &t
1T T4 U Arier Jeg o &ehl

DELOEMN
122456
Options:

1. ¥ 5346812
= % 341265
3. % 145362
4 % 15348Z

Question Number : 2 Question Id : 50964713464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:

1. % DHL
= % PTH
3 ® YOG

4. ¥ JMF

Question Number : 2 Question Id : 50964713464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % DHL
2 % PTY
2. ® YOG

4. ¥ JMP

Question Number : 3 Question Id : 50964713465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. ® Bull

= % Wolverine
3. % Stallion
4. ¥ Hen

Question Number : 3 Question Id : 50964713465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁ{qn%ﬁaﬁ—nﬁﬁﬁ 1 Ter TS Foie & W 51 §TAlh, U [ded ST o 14 1 a¥g Al 51 39 e o7 == & =1 arehl &
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Options:

1. % |72

2 % grai
3. % gEr

4 it

Question Number : 4 Question Id : 50964713466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that is related to the third terrm on the same basis as the second term is related to the first

TErm.

ESL : FEF . EWE : ¥
Options:

1. % HCG

z W VAF

3. ® YEBK

4. % ZaH

Question Number : 4 Question Id : 50964713466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. % HCG
o ¥ VAF
3. % YEK
4 % ZaH

Question Number : 5 Question Id : 50964713467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 & certain code language, SUNLIGHT = 64, FLOWEER = 26, then what is SUNFLOWER coded as?

Options:
1.¥ 81
2 % 100
3 % 49
4 ® 72

Question Number : 5 Question Id : 50964713467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TeT Fig wmr H, SUNLIGHT = 64, FLOWER = 36, 3f SUNFLOWER. &7 97 TS &7

Options:
1. ¥ 51
2 % 100
3 % 49
4 % 72

Question Number : 6 Question Id : 50964713468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Ir1 & certain code language 513687 15 coded a5 604596, then what will ¥523621 ke coded as?

Options:

1. % 544710
= ¥ 344530
3. % gp4732
4 ® gEZ71Z

Question Number : 6 Question Id : 50964713468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U T Fiz AT H, S13657 W 604596 & v § FiiSq e mar g, 97 753621 @ ToFe uae fiEa e s

Options:
1. % 544710

= % 544530
S % gE4732
4 ® 5271z

Question Number : 7 Question Id : 50964713469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Harshita, Ishika, Jaya, Krishna and Lara are sitting on a bench. Jaya is between Ishika and Lara. Harshita is to
the right of Ishika. Kalyani is sitting at the extreme right. Kalyani is not next to Lara. Who is to the right of
Harshita”

Options:

1. % Lara

2. # [shika
3. ¥ Kalvani
4 # Jaya

Question Number : 7 Question Id : 50964713469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

O 51T EERLE) . B AT o el # . & EIZ 1)
o e 25 2 o e o 11 o ST e gy S ST T 8 e g

Options:

1. % #mT
2 % gidmer
3. v Tl
4. % oar

Question Number : 8 Question Id : 50964713470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully. Assurming that the information in the statement is true,
everl if they appear to be in variance with commenly known facts, select which of the conclusions logically
followr(s) from the statement beyond reasonable doubt.

Staternents: -
[. Some dogs are cats.
II. All cats are birds.

Conclusions: -
I. Sorme dogs are birds.
II. Mo cat is dog.

Options:

1. % Only Conclusion [ follows.

= % Only Conclusion 1T follows.

3. % Neither of the conclusion follows.
4. % Both I and II follows

Question Number : 8 Question Id : 50964713470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T T Y T @ e | U OE E%E;ﬁﬁw:rﬁé“rﬂ?aﬂmﬁw%, Vel 51 of WA F1T 921 & wwT =
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Options:

1. T Tmept 1 S1eoT &aT gl
2. % et T 11 STgEr FaT gl
3. % g T Fwrd arge AR o
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Question Number : 9 Question Id : 50964713471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:

1. % 163
2 ¥ 171
3 % 167
4 % 173

Question Number : 9 Question Id : 50964713471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁ%qngﬁh%ﬁ?ﬁﬁ;#tnﬁﬁﬁﬁﬁaaﬁﬁdﬁﬂmqéﬁaﬂﬁm1ﬁﬁﬁmﬁﬂaFa#tﬁﬁ?mgqﬁ%1Eﬂﬁmﬁﬂﬂﬂaaqm%qﬁaﬁﬁﬁ
ATETT

Options:

1. % 163
2 ¥ 171
3 % 167

4 #® 173

Question Number : 10 Question Id : 50964713472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third munber on the same basis as the second number is related to the
first number.

0.13:0.0169::0.09: 7
Options:

1. % 0081

2. ¥ 00081

3 % 081

4, % 000081

Question Number : 10 Question Id : 50964713472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I ey T = ST ST AT § I W el A e W R €T Uge | ST  He g g

0.13:0.0168 0097
Options:

1. % 0081

= ¥ 0.0081
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3. % 081
4. % 000081

Question Number : 11 Question Id : 50964713473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two signs shiould be intercharnged o malke the below equaticon mathernatically correct?

12x8-4+10+5=29
Options:

1.9 - =

2 % 4+ -

38+, =

4. % = +

Question Number : 11 Question Id : 50964713473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T T T ST T /Wl AT o 1Ay T 2 gl @ T S 1 T ATg e
12 x5-4+10<-5=2%

Options:

1.v - =

2% 4 -

3% 4+, <

4 % = +

Question Number : 12 Question Id : 50964713474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two numbers should be interchanged to rmake the below equation mathernatically correct?

ExZ2+8+-4-5=§8
Options:
1.¥E 5
2 %24
3. %5 4
4 % 8 5

Question Number : 12 Question Id : 50964713474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ATl e T HE TR @ R w0 F " T o T e g Seanat ®t e i e S aneye
ExZ2+8+4-5=6

Options:

1.¥E 5

= %24

3. %5 4

4 % B 5
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Question Number : 13 Question Id : 50964713475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the rmissing number in the fDllDW‘iﬂg TIUITIRer Series.

17,12, 6, -1,
Options:
1.9 -9

L
¥ B o
|mom

Question Number : 13 Question Id : 50964713475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T s it # fF w9 w4
17, 12,6, -1, _____

Options:

1.9 -9

2 ® -7

2 % -8

4 % -3

Question Number : 14 Question Id : 50964713476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
If 15#2 = 25, 27#9 = 15, 102#17 = 30, then what is the value of 1524197

Options:
1.9 40
Z % 45
3. % 25
4. % 20

Question Number : 14 Question Id : 50964713476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

aqfe 15#3 = 25, 27#9 = 15, 102#17 = 30§, a7 152#19 &1 g 741 &7
Options:

1.9 40

2. % 45
3. % 25
4. % 30

Question Number : 15 Question Id : 50964713477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Wwhich of the following Venn diagrams best represents the relationship between Russians, Canadians and
SCientists?y
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A,

Options:

1, ® .
©

o B O

3 ®

4 &

Question Number : 15 Question Id : 50964713477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T H & @ 61 o A T, FIETS I ST o sl Heel i e ST ST 57

Options:
1. %

©
> ® O
&
4 %

Question Number : 16 Question Id : 50964713478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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& person walks 10 ki towards north, then turns towards east and walk & kur. He then turns to his right and
walls 7 kim, and then again turns right and walks for S ki Where is he standing riow with respect to the
Starting point?

Options:

1. % 4km south
2. % 4 kmnorth
= ¥ 3 kmnorth

4 # 3l south

Question Number : 16 Question Id : 50964713478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U =0T 2o ol & 10 krn IeaT 5, T 4 &1 3T T 3T S ki IAdT 71 % e &0 318 &Y T 7 km IdT &,
A 0T g1igy g2aT 2 & 5 kamy T geld | agamﬁrwmﬁﬁﬁﬁga?ﬂaa H ol gl W21 27 e

Options:

1. % 4 kn g
2 % 4 kmFW
3 ¥ S km I

4 % 3l SiEm

Question Number : 17 Question Id : 50964713479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich of the following cubes in the answer figure CANNOT be made based on the unfolded cube in the
question figure?

oo
Sl
&8
siw |
. 1
4 ®

Question Number : 17 Question Id : 50964713479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A,

Correct Marks: 1 Wrong Marks: 0.25
JaC AT H o O W U Sgid B U O o ST U FR 1 a1l AT qed T 57

<]
Ol R - |

Options:

-
-

Question Number : 18 Question Id : 50964713480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:
E DU

H
L elx 1 o

o 0

.n
o
x

m
c
o
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A,

O
mo o

M » I
C -

Question Number : 18 Question Id : 50964713480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qn%ﬁwﬁﬁﬁaﬁ:rwﬁﬁaﬁmﬁwﬁ TTATE, T TeeT o 19 &1 998 51 81 39 Tdwet &7 oo & AT 3T
ST

Options:
E DU
Q EH
1_,5;)(!0
X W E
| F Q
,%|HDO
F O X
DI
. % LEUQ
HOD
X 1 Q
4.WFLIE

Question Number : 19 Question Id : 50964713481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which answer figure will complete the pattern in the question figure?

Options:

P 4
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A,

Question Number : 19 Question Id : 50964713481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I €I IO ATFIT e AT+ H Jad I gy wA?

N

—=nl THEN SN

?

Options:

Question Number : 20 Question Id : 50964713482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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A,

From the given answer figures, select the one in which the question figure is hidden fembedded.

Options:

o o

Question Number : 20 Question Id : 50964713482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST TIE A SAFTTAT H W, T T A=A B oA w st e 2

Options:

o o
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Gerneral Awarensss

Group Number : 2

Group Id : 509647373

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

erlieral Awareness

Section Id : 509647533
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 509647721
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 50964713483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

"Bagururmba” is one of the popular dance form performed by Bodo women. With which state it is associated
withl?

Options:
1. # Chhattisgarh
2. ¥ Assam

2. % Gog
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4, ¥ Gujarat

Question Number : 21 Question Id : 50964713483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TS ST AigaTall R Ueqd /e 9od &0 § & UF 71 I 0 T4 & 98T F2T 87

Options:

1. % geiteg
2. ¥ ey
3. % TMar

4 ® TR

Question Number : 22 Question Id : 50964713484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"Thoori” music is associated with which of the following state?

Options:

1. % Uttar Pradesh

2. % Himachal Pradesh
= % Punjab

4. % Uttarakhand

Question Number : 22 Question Id : 50964713484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e ity e d f e oer F e TET R
Options:

1. % gEeucy

2. ¥ TEHEe nda
S ¥ e
4 ® F@EE

Question Number : 23 Question Id : 50964713485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Losar festival, which is celebrated by the people of Monpa tribe, is associated with which of the following
states?

Options:

1. ® Bihar

2. % Arunachal Pradesh
= % Assam

4. % Gujarat

Question Number : 23 Question Id : 50964713485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT TG, ST WIHT SAetd & @ G/ 7= =maT 5, FaimEs § & 6 o & e 32187
Options:

1. ® fEw
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Question Number : 24 Question Id : 50964713486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 repo rate?

Options:

1. # Short term rate at which bank lends to REI
2. % Short term rate at which REI lends to bank
Z. % Short term rate at which Govt. lends to bank

4. % Short term rate at which bank provides loans to Custorrners

Question Number : 24 Question Id : 50964713486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T VT T 87

Options:

1. ® o o7y st 2% W aRd T foAd 39 B T 8

2. ¥ Y et T o 9 W R 1 T o, s w IR ST gl
2. ® T aEr o R W S e a3

4 ® 7y ot gy e ux dw TIEe! B F0T Ug T gl

Question Number : 25 Question Id : 50964713487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following fiscal policies is adopted by the Governument to control inflation?

Options:

1. ® Increase government expenditure
2. ¥ Increase the rate of taxes

Z. % Decrease the rate of taxes

4. % Decregse the money supply in the economy

Question Number : 25 Question Id : 50964713487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el w1 i @ @ o aee 3 it e Aifadt § @ T e ge

Options:

1. % el @ Jgny

o o Gt T aaTd

Z. % ol @ g ueny

4 % apieoae o ggr AT # FH

Question Number : 26 Question Id : 50964713488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does Vernier Calliper measure?

Options:
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1. ¥ Temperature
2. % Sound
= ¥ Length
4, % Speed

Question Number : 26 Question Id : 50964713488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT HET FT ATET 27

Options:

1. % qmome
2. % iy
3 ¢ e
4 % miF

Question Number : 27 Question Id : 50964713489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many litres of blood is present in an adult hurman body?

Options:

1. % 35 - 4.2 litres
o % 5.2 - 7.7 litres
3. ® 7.8 - 8.2 litres

4 ¥ 45 -5 7 litres

Question Number : 27 Question Id : 50964713489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
U S Hig J0 | fed #ie? Tk HiNg g 1T 87

Options:

1. % 35 - 42k
2 ® 52 -77dkx
3 % 7E-B2ART
4 ¥ 45 -57dkx

Question Number : 28 Question Id : 50964713490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following continents has the highest number of countries?

Options:

1. ¥ Morth America
2. % Europe

Z % Asia

4. ¥ africa

Question Number : 28 Question Id : 50964713490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o & 9 T mgrd St & Jwar de arfdew g7
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Options:

1. % o amdfesT

2 ®
2. ® gidEr
4 & kT

Question Number : 29 Question Id : 50964713491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following states is the Ukai Dam located?

Options:

1. ¥ Rajasthan

2. % Assam

=, ¥ Gujarat

4, % Madhva Pradesh

Question Number : 29 Question Id : 50964713491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

THTE aTe, el § # e e o e g7
Options:

1. ® Ire

2 % amm

z. ¥ TRIT
4 ® merndy

Question Number : 30 Question Id : 50964713492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following is the oldest mountain range of India?

Options:

1. #® vindhaya

2. % western Ghats
3. ¥ Aravallis

4 % Girnar

Question Number : 30 Question Id : 50964713492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

RrTeITe 2 & B & A B e gt v S 7
Options:

1. % ey

o % gt an

z. ¥ aRTEdr

4 # fieaw

Question Number : 31 Question Id : 50964713493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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her was the Rowlatt ACt passed?
Options:

1. % 1925

o ¥ 1919

3. % 1905

4, % 1928

Question Number : 31 Question Id : 50964713493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TIGIC T el TTICA TohT TIT £777

Options:

1. % 1925
2 ¥ 1919
3 % 1905

4 ® 1928

Question Number : 32 Question Id : 50964713494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following dvnasty was founded by Vindhvyashakti?

Options:

1. % Kalachuri
2. % Kakatiya
= ¥ Vakataka
4. % Harvanka

Question Number : 32 Question Id : 50964713494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tehearariy = TemgioaT § & ToreT i o7 wermoT & off?

Options:

1. % gl
2. % g
3. ¥ gETew

4. ® g

Question Number : 33 Question Id : 50964713495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the second battle of Fanipat, Akbar defeated

Options:

1. % Raja Hem Chandra Vikramaditya
2. % Shah Jahan

Z. % Sher Shah Suri

4. % Babar

Question Number : 33 Question Id : 50964713495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. & T 20 =g TawTigea
2 ® g gl

3. % I qE g

4 % gmaw

Question Number : 34 Question Id : 50964713496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is the current (as on April 201%9) Director-General of World Trade Organisation (WTO)?

Options:

1. ® David Shark

2. % Yonov Frederick Agah
= ¥ Roberto Azevedo

4 # ¥arl Erauner

Question Number : 34 Question Id : 50964713496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TePer STU EITE (Zere el & Hgl-add (30 2019 T &9 57
Options:

1. % 2fE g

2. ® I hEitE amg

2 ¥ TTde] ardET

4 % T g

Question Number : 35 Question Id : 50964713497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who received the Dadasaheb Fhallee award in 20137

Options:

1. % Sridevi

2. % Pankaj Tiwari
% % Riddhi Sen
4.+ Vinod Khanna

Question Number : 35 Question Id : 50964713497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2018 H SIEMEe Wiedh QR o e 217

Options:

1. % sy

2 % g fdanr
3 % WhgeEd
4. ¥ Tatg wg
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Question Number : 36 Question Id : 50964713498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With which of the folln:nwing amendment was Siklkam included as a state?

Options:
1. % 26
2 ¥ 36
3 % 4D
4 % g1

Question Number : 36 Question Id : 50964713498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraEET # & T Gt o a1 e ® 1 U@ e o & H i T e are

Options:
1. % 25
o ¥ 36
3 % 4P
4 % g1

Question Number : 37 Question Id : 50964713499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The existence of the concept of "The Single Citizenship" in the Indian Constitution is borrowed from the
constitution of

Options:

1. % aAustralia
2. % Canada
3. % Ireland
4. % EBritain

Question Number : 37 Question Id : 50964713499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WA 12 Ficree # "Uehel ATwaT @1 ST &7 siiedod

Options:

1 % sferfemn
2 % FarET
3. ® RRAE
4 & g

Question Number : 38 Question Id : 50964713500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the first chairman of the House Comrmittee of the Constituent Assembly of India?

Options:
1. % Jawaharlal Nehru
= % E. Pattabhi Sitaramayva

2. % Dr. .M. Munshi
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4. % N Gopalaswarmy Ayyangar

Question Number : 38 Question Id : 50964713500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT T G T & T2 GifiT & Ogol ST T 47

Options:

1. ¥ FOTEead A5E

2. ¥ dt ugThy SiawaaT

3. % 2T & oA gt

4. % T MOTACETHT ST

Question Number : 39 Question Id : 50964713501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho is known as the father of the modern Olympic Games?

Options:

1. % Pierre de Frédy, Baron de Coubertin
2. % Belgian fencer Victor Boin

= ® Gustaf Johan Schartau

4. % Evangelos Zappas

Question Number : 39 Question Id : 50964713501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATTer ST Sl % -® & €0 § T 7 74T 57

Options:

1. ¢ U 2, ot 2 wiate
2. ® ifeorae Bt oees agd
3. ® TEITE AR FER

4, ® zefAw FAraTE

Question Number : 40 Question Id : 50964713502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following tearns was the first one to win the Women's Hockeey World Cup?

Options:

1. % Pakistan

2 % India

Z. ¥ Netherlands
4. ¥ Germany

Question Number : 40 Question Id : 50964713502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR # & 99 & S afe 2 e o e ane uee o ot

Options:
1. % iierea
o W T
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Question Number : 41 Question Id : 50964713503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Find the value of: -/ (3+/ (27 +/(73+/540.

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 41 Question Id : 50964713503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

(B (27 -/ (734640, =T Hra 1T i

Options:
1. %1
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o %2
. v 3
4. % 4

Question Number : 42 Question Id : 50964713504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The HCF and LCM of 2 positive numbers are 2 and 126 respectively. If one of the numbers is 4 more than the
other, find the smaller number.

Options:
1. % 12
2. ¥ 14
3 % 18
4, % 18

Question Number : 42 Question Id : 50964713504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2 [TcHe GEATa T HgelH GHTTe o &I e GHITEE & BH: 2 31 126 §1 9id 3 Tear § 8 UF gad 4 4 aidw g, 918
LT AT H ]

Options:

1. % 12

2. ¥ 14
3. % 18
4. % 18

Question Number : 43 Question Id : 50964713505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the result when 0 27272727 . is converted to a fraction?

Options:

Question Number : 43 Question Id : 50964713505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT 027272727 ... W UF 9 H AT AT & a7 T FAT EET 57

Options:

Question Number : 44 Question Id : 50964713506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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The average of & numbers is 25. Three of the numbers are 21, 22 and 24. The other two are in the ratio 13:16,
find the smaller nnurnber.

Options:
1. 25
o % 13
z % 195
4 % 325

Question Number : 44 Question Id : 50964713506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

S HEATH! T ST 25 31 IO | 3 HEA 21, 22 8 24 1 8 2 W AU 13016 § wIAaH T A1 H)
Options:

1. 25

2 % 13

3 % 195

4 % 325

Question Number : 45 Question Id : 50964713507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the total discount applied when % successive discounts of 20%, 10% and 12 5% are applicable?

Options:

1. ¥ 37 percent
2. % 375 percent
% % 32 percent

4. % 36 percent

Question Number : 45 Question Id : 50964713507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

20%, 10% 3% 12 5% %1 3 HIHw §¢ AL 5 W Fol e 47 A ld 1 &7
Options:

1. % 37 uideT
2. % 37 CudaT
3 % 30 uided
4. % 36 uidaT

Question Number : 46 Question Id : 50964713508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A student scores 92% in an exarmination of S subjects. His scores were 89, 91, 82, 94 in 4 subjects. Find his
sCore in the Sth subject.

Options:
1. % 94

> ® gg
2 ¥ 9g
4 # 100
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Question Number : 46 Question Id : 50964713508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U §13 5 Tamat & weiam # 92% aiw wE aaT 8 4 Tt # 39 alw 89, 91, 88, 94 71 & o g § I aF 19 w4

Options:
1. % 94
= % 98
3. ¥ 98
4 % 100

Question Number : 47 Question Id : 50964713509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& batsman scored 160 runs in a cricket rmatch. He hit 24 fours and 8 sixes during his innings. What percent of
his runs was scored in boundaries?

Options:
1. % 75
Z % B33
3. ¥ 90
4 % g5

Question Number : 47 Question Id : 50964713509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U Arcdl - 0o There BT # 160 9 99T Ie5i- ST O & SR 24 =i 3T 5 T a0 390 [ha- nidad 1 arama # &7

Options:
1. % 75
2 % 8333
2. ¥ 90
4 % gg

Question Number : 48 Question Id : 50964713510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Three candidates contested an election and received 500, 750 and 1250 votes respectively. What percentage
of wotes did the winning candidate get?

Options:

1. ¥ 25 percent

= % 23 3E percent
3. % 40 percent

4. ¥ 50 percent

Question Number : 48 Question Id : 50964713510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1 IrtEaR ! = U oA @eT S FA: S00, 750 & 1250 91T ATH fom Siia- are Irigaw 1 da- widad aie w7
Options:

1. % o5 yfta
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= ¥ 33 33 ideT
3. % 40 gidaT
4 " 5o uldaT

Question Number : 49 Question Id : 50964713511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If an article was bought for Bs. 500 and a repairing charge of Rs. 50 was paid for it and it is supposed to be
sold at a profit of 20% on the marked price which is 25% added on the cost price. Find the required selling
[rice.

Options:

1. ¥ Rs 675
Z % Rs 725
3. ¥ Rs. 775

4. ¥ Rs. 825

Question Number : 49 Question Id : 50964713511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T HIE & SO0 T3 T g 4T 31T I8 TOAT U SO 704 el [0 T 31 56 Siferd Grd U8 20% & @ U2 sl (71 a4
T, ST AT g & 25% Siféd g1 seeae o g A1 @i

Options:

1. % g75 =t
o % 705w
3 % 775w

4 & 32C '

Question Number : 50 Question Id : 50964713512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

& school has 400 students with the ratio of boys:girls being 2:2. 100 new students were given admission and
the ratio changed to 16:9. Find the number of bovs who had taken adrission.

Options:
1.9 80
= % 40
3. % B0
4. % 50

Question Number : 50 Question Id : 50964713512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T H Aew! o At & 32 400 T 8 100 77 TE1 1 0aer Tam 1= 37 95 SR e 16:9 # e mam
E‘?ﬂ?‘cﬁﬁmmﬂﬁ' ﬁ@%nﬁ%m

Options:
1.9 20

2. % 40
2. % B0
4. % 50
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Question Number : 51 Question Id : 50964713513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& and B together have BEs. 1500 If 4/5 of A's amount is equal to 7/ 10 of B's amount, how much does & have?

Options:

1. % Rs. 490
Z % Rs. 560
3. ¥ Rs 700
4. % Rs. 200

Question Number : 51 Question Id : 50964713513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A ﬁﬁgwﬁw 1500 =02 31 1 A & e RITd FT 4/S ATTE & =0 & 7 10 90T F awTey &, 97 A & g fra=T

Options:

1. % 490 w7
o % SE0 e
3 ¥ 700 T

4 ® 300 0

Question Number : 52 Question Id : 50964713514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Seats for English, Hindi and Mathematics in a school are in the ratio 12:8:5. There is a proposal to increase
these seats by 25%, S0% and S0% respectively. Find the new ratio of the seats.

Options:

1. ¥ 543
. ® 545
3. % 5.E5
4. # 455

Question Number : 52 Question Id : 50964713514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ¥l | S, %&rﬁ?nﬁﬁﬁﬁqaﬁ% 12:8:5 &% 1 | 31 57 dicl @ wHan 25%, S0% K S0% d 98 &1 uedTd g1 dief
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Options:

1.9 542
2. % 545
3. % CEE
4. ® 455

Question Number : 53 Question Id : 50964713515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& sumof 14400 amounts to BEs. 21212in 8 vears, What 15 the simple rate of interest?

Options:
1. % 2 percent

= % 4 percent
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3. % E percent

4. ¥ § percent

Question Number : 53 Question Id : 50964713515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S H 14,400 F04 &1 RIS dE@ 21312 T 5T AT 51 =47 1 GRS &7 57

Options:

1. % s uiae
2. % 4 e
3. % ST
4. ¥ ¢ uidaT

Question Number : 54 Question Id : 50964713516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& man travelled a distance of 24 kmin 2 hours. He travelled partly on foot at 4 kmjh and partly on bicycle at
12 krnfh. The distance travelled by the man on foot is

Options:
1. ¥ Ekm

2. ® 16 km
3. % 12km
4. % 9km

Question Number : 54 Question Id : 50964713516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AIGHT 3 HE H 24 b B G T FN T ATIF T 4 kb Bge DT b S STTEE €0 F 12 kanyfh @IS (9 U AT T
| ST BT e A A g ___ 7l

Options:

1.9 6 km
2 % 16 km
2% 12km
4 % 9km

Question Number : 55 Question Id : 50964713517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If & can do a work in 64 days and E is twice as efficient as 4. In how many days more will the work be
cormpleted if B joins 4 on the Sth day?

Options:
1. % 10
= % 18
3. % 18
4. % 20

Question Number : 55 Question Id : 50964713517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 10
2 % 18
3. % 18
4 % z0

Question Number : 56 Question Id : 50964713518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& can do a work in 20 days and E can do the work in 20 days. If they work together for 10 days, what fraction
of work is left?

Options:

Question Number : 56 Question Id : 50964713518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AIWEF%??E?:JFED Tt # oW B 39 @ &1 30 21 § ¢ @aar 21 Tl o 10 Tt & 60 o 9y & 9 3, 7 00 & & a1
3197 =T

Options:

Question Number : 57 Question Id : 50964713519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An error 3% in excess is made while measuring each side of a right triangle. What is the percentage of error in
the calculated area of the triangle?

Options:

1. % 404 percent

Z % 5075 percent
3. ® 5705 percent
4. ¥ §.09 percent

Question Number : 57 Question Id : 50964713519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o IO T T e T S IR e 3% i i uer g 2 St B T i ufew e dwer i 9 @ nida e 27
Options:

1. % 4.04 gidad

2 ® 5075 HideT

3. ¥ 5 705 uideT
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Question Number : 58 Question Id : 50964713520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
88 cubic centimetres of a copper wire is drawr into a wire of 4 mm in diameter. What is the length of the wire?

Options:

1. % 1.75m
2. % 35m
3. ¥ 7m

4 % 14m

Question Number : 58 Question Id : 50964713520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S8 O HITHET 2T AT 3T & I & 4 rrun T W ST AbT 5 T S AT 7497 57

Options:

1. % 1.75m
2 % 35m
v 7m

4 % 14m

Question Number : 59 Question Id : 50964713521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following pie chart shows the expenditure incurred by a company on various projects. If the expenditure
on Project 4 is Rs. 60,000 less than Project B, what is the expenditure incurred by the company of Project D?

Expenditure on various projecs

Options:

1. % Rs 2,10,000
2. % Rs. §,00,000
3 % Rs 1,20,000
4. % Rs. 50,000

Question Number : 59 Question Id : 50964713521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.4 210,000 &0
2. % §,00,000 70
3. % 1,20,000 703
4, % 50,000 7T

Question Number : 60 Question Id : 50964713522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following line graph shows the exports and imports of a country over different yvears. In which of the
followding wears, the trade balance (exports - imports) is the highest?

——Export ——Import
200
] 160 170 {45
L 140
g 150 170
0 =
E & 100 140 y 120
T 3 100
% o 50 80
E- 0
2015 2016 2017 2018 2019
Year
Options:
1.9 2017
> % 2018
=z % 2016
4 ® 2019

Question Number : 60 Question Id : 50964713522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. ¥ 2017

> ® 2018
3 % 2016
4 ¥ 2019

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view?:
Revisit allowed for edit?:
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:
Display Number Panel:
Group All Questions:

eneral English
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509647375
0
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0
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0
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Ceneral English

509647535
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Online
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16
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20

Yes
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Sub-Section Number: 1
Sub-Section 1d: 509647723
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 50964713523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "MNo error”
option.

tA) Weither Ankita | (B) or Bashi is keerl | (C) on joining the dance. |/ (00 Mo error
Options:
1% A
= ¥ B
3. % C
4 % D

Question Number : 61 Question Id : 50964713523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following statement, one part of the sentence may have an error. Find out which part of the sentence

has an error and click the button corresponding to it If the sentence is free from error, select the "No error”
OO,

(&) Meither Anlkita ((E) or Rashi is keen | () on joining the dance. | O Mo error

Options:

1% A

2 ¥ B

3% C

4 % D

Question Number : 62 Question Id : 50964713524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option Mo Error'

Zhildren are not allowed | 10 enter the swirnming pool area | except they are accompanied by an adualt. | Mo
Error

Options:

1. % Children are not allowed

= % toenter the swirnming pool area

3. ¥ except they are accompanied by an adult.
4. % Mo Error

Question Number : 62 Question Id : 50964713524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Children are not allowed [ 1o enter the swirmuning pool area | except they are accormnpanied by arn adualt, | No
Errcr

Options:

1. % Children are not allowed

2. % toenter the swirnming pool area

3. ¥ except they are accompanied by an adult,

4 % MNo Error

Question Number : 63 Question Id : 50964713525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Replace the words in the bracket from the set of options given.

Een could not help (ut laugh) at his joke.
Options:

1. % wall be laughing

2. ¥ laughing

2. % has laughed

4. % laughed

Question Number : 63 Question Id : 50964713525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eeplace the words in the bracket from the set of options given.

Beri could not help (but laugh) at his joke.
Options:

1. % wall be laughing

Z ¥ laughing

2. # has laughed

4. % laughed

Question Number : 64 Question Id : 50964713526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that can correctly replace the highlighted word or phrase and rmake the sentence
gramuratically correct. Select the To corraction required’ option if the sentence is correct as it is giverl,

He is waiting {in) the door.
Options:

1. v at

2 % over

2. % on

4 % gheout

Question Number : 64 Question Id : 50964713526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Select the option that can correctly replace the highlighted word or phrase and make the sentence
grarmmatically correct. Select the TNo correction required’ option if the sentence is correct as it is givern.

He is waiting {in) the door.
Options:

1. ¥ at

= ® over

2. % on

4 % gheout

Question Number : 65 Question Id : 50964713527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that correctly (and most appropriately) fills in the blank and completes the sentence below.

Wwhat _____ he doing when vou reached home last evening?
Options:

1. % is

2. ¥ was

3. % will be

4 % has

Question Number : 65 Question Id : 50964713527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that correctly {and most appropriately) fills in the blank and completes the sentence below.

What _____ he doing when you reached horne 1ast evening?
Options:

1. % is

2. ¥ yas

3. % will be

4. % has

Question Number : 66 Question Id : 50964713528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

Soil cortamination as

P :in the natural 501l environment

3 part of land degradation

E : chermicals or other alteration

5 1 is caused by the presence of human-rmade

Options:

1. % PORS
Z % R3IQF
3. % SORP
4. ¥ QIRF
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Question Number : 66 Question Id : 50964713528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a sentence. Cut of four options given, select the most
logical order of the parts which form a coherent sentence.

Soil contarmination as

F : in the natural s50il environment

& part of land degradation

E : chemicals or other alteration

S 1 is caused by the presence of human-rmade

Options:

1. % PORS
2. % RSQP
3. % SORF
4 ¥ OSRP

Question Number : 67 Question Id : 50964713529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which best expresses the meaning of the given word.

Wigilarnt
Options:

1. ® Dishonest
= % Fear

3. ¥ Alert

4. % Bravery

Question Number : 67 Question Id : 50964713529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ot of the four alternatives, choose the word which best 2HPTEE52S the I'ﬂEElI'liI'lg of the given wior,
Vigilant

Options:

1. # Dishonest
2. % Fear

3. ¥ Alert

4. % Bravery

Question Number : 68 Question Id : 50964713530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which is OFPPOSITE in meaning to the given word,

Despair
Options:

1. % Hope
2. % Forfeit
I % Latent
4. % YVamge
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Question Number : 68 Question Id : 50964713530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which is OFPOSITE in meaning to the given word.
Despair

Options:

1. ¥ Hope

2. % Forfeit
3. % Latent
4, % Vague

Question Number : 69 Question Id : 50964713531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. ¥ Hemmorage
2. ¥ Haemorrhage
Z. % Hemcrhage

4, % Hemorage

Question Number : 69 Question Id : 50964713531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. % Hemmorage

2 ¥ Haermorrhage

% % Hemcrhage

4. % Hemorage

Question Number : 70 Question Id : 50964713532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. ¥ Cnometopai
2. % COnometopia
= % Onomatopia

4. ¥ Cnomatoposia

Question Number : 70 Question Id : 50964713532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are giverl, out of which only one word 15 spelt correctly, Choose the correctly spelt word.,
Options:

1. % Cnometopai

2. % Onometopia
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= % Onomatopia

4, ¥ Onomatoposia

Question Number : 71 Question Id : 50964713533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is spelled correctly.

Options:

1. % grarmmer
2. % gramer
% % gramar

4. % grammar

Question Number : 71 Question Id : 50964713533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is spelled correctly.

Options:

1. ® grarmmer
2. % gramer
% % gramar

4, % grammar

Question Number : 72 Question Id : 50964713534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the fOllDWiﬂg idicm mean’?

Close-fisted marn
Options:

1. % Donor

2. % Philanthropist
3. ¥ Mizer

4. % Sponsor

Question Number : 72 Question Id : 50964713534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the following 1dicorm mean’

Close-fisted marn
Options:

1. % Donor

2. % Philanthropist
= ¥ Miser

4. % Sponsor

Question Number : 73 Question Id : 50964713535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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what does the following idiom mean?

& wiolf in sheep's clothing

Options:

1. ¥ 4 person or thing that appears friendly or harmless but is really hostile.
2. % Don't judge someone by his appearance.

3. % Tobe odd one out in a group.

4. % You don't become smart by just wearing good clothes,

Question Number : 73 Question Id : 50964713535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what does the following idiom mean?

& wolf in sheep's clothing

Options:

1. % A person or thing that appears friendly or harmless but is really hostile.
2. % Don't judge someone by his appearance.

Z. % To be odd one out in a group.

4. % You don't become smart by just wearing good clothes.

Question Number : 74 Question Id : 50964713536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the alternative which is the best substitute of the
wiords [ sentences.

& person who has an excessive interest in or admiration of themselves.
Options:

1. ¢ Narcissist

2. % Lunatic

3. % Somnambulist

4 ® Numismatist

Question Number : 74 Question Id : 50964713536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of four alternatives, select the alternative which is the best substitute of the
words [sentences.

A person who has an excessive interest in or admiration of themselves,
Options:

1. % MNarcissist

2. % Lunatic

3. % Somnambulist

4 # Numismatist

Question Number : 75 Question Id : 50964713537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

dtab

In the following questiorn, out of four alternatives, select the alternative which is the best substitute of the
words | sentences.

& state, society or group governed by old people.
Options:

1. * Aristocracy

2. % Bureaucracy

2. % Democracy

4 ¥ Gerontocracy

Question Number : 75 Question Id : 50964713537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
wiords | sentenceas.

A state, society or group governed by old people.
Options:

1. % Aristocracy

2. % Bureaucracy

2. % Democracy

4. 9 Gerontocracy
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Question Id : 50964713538 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension

Read the passage carefully and answer the given question:

In 1837 Louis Aggasiz, a young naturalist, had to suffer ridicule at the hands of geclogists while trying to
prove that the earth had gone through a number of ice ages. Ther, for almost a century, the four-fold ice age
scherne of the Alps (Wuarrm, Riss, Mindel and Gunz) given by Alberta Penck and E. E. Rucker in 1909 got 50 well
entrenched in geology that most of the global evidence was forced to fit into this fourfold frameworl and
nobody dared to think of more than four ice ages. Only recently have the data from sea-cores and deep ice
cores revealed that, in the last 2 million years, the earth has witnessed 17-18 cold-warm oscillations rather
than four, as believed earlier. More important was the realization that ice ages, were several times longer than
the warm periods and that they could be triggered off even within a brief space of a century. The warm
periods were normally only of a span of 10-15 thousand years. The portrait of an ice age is starkly gloomy.
Yast areas of earth, including large areas of Europe, Canada, 11.5 4 and India: may come under a thick blanket
of ice and the lower latitudes will be under the grip of droughts and famine. With the already mounting food
and fuel crisis, the earth can ill-afford such a catastrophe.

Sub questions

Question Number : 76 Question Id : 50964713539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhern was the four fold ice age scheme of the Alps given by Alberta Penck and E. E. Rucker?

Options:


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

W=

1. % 1898
o % 1902
3 ¥ 1909
4 % 1837

Question Number : 77 Question Id : 50964713540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Why did geclogists laugh at Louwis Aggasiz?

Options:

1. % He tried to prove that earth had gone through a number of ice ages.

2. % He tried to prove that earth has gone through only 4 ice ages.

% % He believed that vast areas of earth will be affected by famine and droughts in the upcoming years.

4. % He stated that warm periods were 10-15 thousand vears long.

Question Number : 78 Question Id : 50964713541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following is not one of the four fold ice age scheme of the Alps?

Options:

1. % wurm
2. ¥ Gonk
3. ® Riss
4. % Mindel

Question Number : 79 Question Id : 50964713542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Howr long did warm periods normally last?

Options:

1. % 20-25 thousand years
2. % 15-20 thousand vears
% % 5-10 thousand vears
4, ¥ 10-15 thousand years

Question Number : 80 Question Id : 50964713543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the data frorm sea-cores and deep ice cores, how many cold-warm oscillations earth had
witnessed?

Options:

1. % 10-15
2. ¥ 17-18
3 % 5-10
4 % 16-17

Question Id : 50964713538 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No
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Question Label : Comprehension
Read the passage carefully and answer the given question.

In 1837 Louis Aggasiz, a young naturalist, had to suffer ridicule at the hands of geclogists while trying to
prove that the earth had gone through a number of ice ages. Ther, for almost a century, the four-fold ice age
schermne of the Alps (Wurm, Riss, Mindel and Gunz) given by Alberta Penck and E. E. Rucker in 1909 got 50 well
entrenched in geology that most of the global evidence was forced to fit into this fourfold frameworlk: and
nobody dared to think of more than four ice ages. Only recently have the data from sea-cores and deep ice
cores revealed that, in the last 2 rmillion years, the earth has witnessed 17-18 cold-warm oscillations rather
than four, as believed earlier. More important was the realization that ice ages, were several times longer than
the warm periods and that they could be triggered off even within a brief space of a century. The warm
periods were normally only of a span of 10-15 thousand years. The portrait of an ice age is starkly gloomy.
Yast areas of earth, including large areas of Europe, Canada, 11.5 4 and India: may come under a thick blanket
of ice and the lower latitudes will be under the grip of droughts and famine. With the already mounting food
and fuel crisis, the earth can ill-afford such a catastrophe.

Sub questions

Question Number : 76 Question Id : 50964713539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whern was the four fold ice age scheme of the Alps given by Alberta Penck and E. E. Rucker?

Options:

1. % 1898
2. % 1902
3. ¥ 1303

4. % 1837

Question Number : 77 Question Id : 50964713540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Why did geclogists laugh at Louwis Aggasiz?

Options:

1. ¥ He tried to prove that earth had gone through a number of ice ages.

= % He tried to prove that earth has gone through only 4 ice ages.

2. ® He believed that vast areas of earth will be affected by famine and droughts in the upcorming years.

4. % He stated that warm periods were 10-15 thousand vears long.

Question Number : 78 Question Id : 50964713541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following is not one of the four fold ice age scheme of the Alps?

Options:

1. % Wurm
2. ¥ Gonk
3. ¥* Riss

4 % Mindel

Question Number : 79 Question Id : 50964713542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr long did warm periods normally last?

Options:
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2. % 15-20 thousand vears
% % 5-10 thousand vears

4, % 10-15 thousand vears
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Question Number : 80 Question Id : 50964713543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the data from sea-cores and deep ice cores, how many cold-warm oscillations earth had

witressed?
Options:

1. % 10-15
2 ¥ 17-18
3 % 5-10
4 % 16-17
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Options:

1. v w4

= ®

3. % damir

4. % it

Question Number : 81 Question Id : 50964713544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TRy ng §, T et § 8, 39 e @7 == o ST J0ET & 74T
Options:

1. ¢ g5a1

2 % gedd

3. ® damor

4. % zfiui

Question Number : 82 Question Id : 50964713545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT mg §, ar Deed! § 9, 39 951 Td@wed &1 =4 @ A1 Uodd § a7 &g, 8l

Options:

1. % aiiRm
2. % grim

3 % e
4 e
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % s
2. % gin

3 ® aread
4 & i
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Question Number : 83 Question Id : 50964713546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % @9+ gy

o ¥ gy + o
3 ¥ §q + gig
4 % g4+ 3

Question Number : 84 Question Id : 50964713547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:
1. % g+ gheg

= % gy + =g
3 ¥ gq + T
4 ® g+ frg
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Options:

1. % argfr
2. % ammEd
3. Famy
4. % gig
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Correct Marks: 1 Wrong Marks: 0.25
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3 % i
4. wEET
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o ¥ ERT
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Question Number : 94 Question Id : 50964713557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2 ® Tt gt @m
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Question Number : 95 Question Id : 50964713558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 95 Question Id : 50964713558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 2
Sub-Section 1d: 509647726
Question Shuffling Allowed : Yes

Question Id : 50964713559 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Sub questions

Question Number : 96 Question Id : 50964713560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 97 Question Id : 50964713561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 98 Question Id : 50964713562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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o % FE TEd AT T EN
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Question Number : 99 Question Id : 50964713563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T & I - WA T e AR 27
Options:
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Question Number : 100 Question Id : 50964713564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=H Slgets # RIE SUGH dH
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Question Id : 50964713559 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Sub questions

Question Number : 96 Question Id : 50964713560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 97 Question Id : 50964713561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 98 Question Id : 50964713562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. B eAdF AT T 50
2. % FE T AT T EN


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

Addal2417)

2. % ST EEg T A
4, % FHE QLA T EN

Question Number : 99 Question Id : 50964713563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 100 Question Id : 50964713564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 1
Sub-Section 1d: 509647727
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 50964713565 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The illness characterised by rapid onset of symptoms and that lasts for a short duration is known as a‘an:

Options:
1 #% chronic illness

> o acute illness
z % terminal illness

4 = age-related illness

Question Number : 101 Question Id : 50964713565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 50964713566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following ethical principles refers to “keeping one’s promises’?
Options:

1 % Beneficence

- w Veracity

5 o Fidelity
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4 % Non-maleficence

Question Number : 102 Question Id : 50964713566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 103 Question Id : 50964713567 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following shows that the nurse is listening to the client?

Options:

, = Turning away from the patient

-  Nodding and making eye contact

- » Looking out of the window

4 = Checking the patient’s case reports

Question Number : 103 Question Id : 50964713567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 50964713568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A nurse who is taking care of a client in a medical unit. notices that the client begins to breathe rapidly. Which action,
by the nurse, reflects critical thinking?

Options:

, = Calling the emergency team

> u Notifying the physician

5  Obtaining vital signs and oxygen saturation

4 = Requesting a chest X-ray

Question Number : 104 Question Id : 50964713568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 50964713569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a patient’s blood pressure is 160/100, then his pulse pressure is:

Options:
1 ® 06
2 « 60

s % 150
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Question Number : 105 Question Id : 50964713569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ife &dr #0= &7 &= 160/100 &, 3 3T A2 2919 &
Options:

1 ® 96
o « 60
z % 150

4w 242

Question Number : 106 Question Id : 50964713570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Resonance is best described as:
Options:

, « hollow sounds created by air filled lungs

- % short high pitched thudding

- » moderately loud sounds with musical quality

4 % drum like sounds

Question Number : 106 Question Id : 50964713570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 50964713571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which technique is used to palpate lvmph nodes?
Options:

, = Move the flat of all four fingers in a vertical motion.

> % Use the back of the hands and feel the deformities.

5  Move the pads of two fingers in a circular motion.

4 = Compress the nodes between the index fingers of both hands.

Question Number : 107 Question Id : 50964713571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 108 Question Id : 50964713572 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the recommended concentration of potassium permanganate used in oral care?

Options:
1 ® 1:10000
5 % 1:6000

= o 125000
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4 % 1:4000

Question Number : 108 Question Id : 50964713572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

% 1: 10000
- % 1 : 6000
2« 1: 5000
4 % 1:4000

Question Number : 109 Question Id : 50964713573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the first aid for a nose bleed?
Options:

; % Make the client lean backward and breathe through the mouth.

- % Make the client lie down on a flat surface.

- w Encourage the client to drink water and sniff.

i Make the client lean forward and breathe through the mouth.

Question Number : 109 Question Id : 50964713573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 110 Question Id : 50964713574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 tablespoons are equivalent to how many millilitres (ml)?

Options:
1 o Sﬂlﬂl

> % 25ml

40 ml

w
¢

10 ml

o=
¢

Question Number : 110 Question Id : 50964713574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2 92 IFR= faga fEeieieT (ml) & et 29 87
Options:

| v 30 ml

o % 25 ml

- % 40 ml

4 % 10 ml

Question Number : 111 Question Id : 50964713575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If 500 ml of 5% dextrose is to be infused in 5 hours, then how many drops per minute should be infused? (drop factor =
15 drops per ml)

Options:

1 ® 20

SR ] 30
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Question Number : 111 Question Id : 50964713575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 ® 20
T W 30

g4 42

Question Number : 112 Question Id : 50964713576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Z-track intramuscular technique is used in administering which kind of medication?

Options:
1 +« Dark coloured medication

> % Medication more than 5 ml

- » Medication that have a long absorption time

4 » Long-termuse medication

Question Number : 112 Question Id ;: 50964713576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 113 Question Id : 50964713577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a woman’s weight is 55 kg and height is 1.65 m, then what is her Body Mass Index (BMI)?

Options:
1 ® 18

19

2
g{

o=
#
[
—

Question Number : 113 Question Id : 50964713577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e Afger &1 afe 5959 55 kg & 3R F=2 1.65m &, o 3T 1% A9 S25F (FTHENTE) FIT g7

Options:

1 ® 18

o W 19

g #® 21

Question Number : 114 Question Id : 50964713578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify a water soluble vitamin from the following options.

Options:
1 % Retinol

> % Caleiferol
3 « Folate

4 # Tocopherol

Question Number : 114 Question Id : 50964713578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 115 Question Id : 50964713579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT true of Kwashiorkor?

Options:
, w Silky, easily pulled hair

5 o Monkey face

- u Poor appetite

4 # Oedema present on the lower limbs and arms

Question Number : 115 Question Id : 50964713579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following polysaccharides is NOT digested by human enzymes and is a major constituent of dietary fiber?
Options:
1 # Starch

> o Cellulose
= # Fructose

4 % Dextran

Question Number : 116 Question Id : 50964713580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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The pyrimidine base present in DNA is:

Options:
1 % uracil
o o thymine

3 % adenosine

4 = guanine

Question Number : 117 Question Id : 50964713581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Who used the term ‘psychoanalysis’ to describe the theory of mind and system of therapy?

Options:
1 % Ivan Pavlov

- % William James

5 « Sigmund Freud

4 % Wilhelm Wundt

Question Number : 118 Question Id : 50964713582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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A clinical psychologist conducts an Intelligent Quotient (IQ) test for a 25 years old. The result is 78. How is the IQ
interpreted?
Options:

. w Superior intelligence

> = Average intelligence

-  Borderline intelligence

4 % Feeble-minded
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the types of thinking in the sequence from simple to complex.

Options:
, « Knowledge, Comprehension, Application, Analysis, Synthesis and Evaluation
- » Knowledge. Application. Analysis. Comprehension, Synthesis and Evaluation

- # Knowledge, Application, Synthesis, Evaluation, Comprehension and Analysis

4 = Knowledge, Comprehension, Synthesis, Application, Analysis and Evaluation
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Correct Marks: 1 Wrong Marks: 0.25
The process of fusion of the spermatozoon with the mature ovum is called:

Options:
, w gametogenesis

- # ovulation
5 o fertilisation

, = implantation
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the mucous lining of the uterine cavity?

Options:
1 ® Ectometrium

> w Myometrium

z « Endometrium

4 % Perimetrium
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Correct Marks: 1 Wrong Marks: 0.25
By which week is the height of a pregnant uterus at the level of the umbilicus?

Options:
;% 16Mweek

> % 20M week
s « 24M week

4 % 28Mweek
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a sign of actual labour pain?

Options:

, « Pain confined to the lower abdomen and groin

-~ # Progressive effacement

> % Dilatation of the internal os

4 = Formation of bag of waters
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The process when the presenting part sinks into the true pelvis is called:

Options:
, = Qquickening

» % loosening

5  lightening

4 = floating
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What is a pregnant lady advised to do at home when she complains of a sudden gush of watery fluid per vagina?
Options:

, = Suggest that it’s a normal occurrence

-  Go to the emergency immediately

5 = Askhertouse a sanitary napkin

4 w Advise her to wait for the fluid to stop

Question Number : 126 Question Id : 50964713590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25

What is the duration of lochia serosa?
Options:

, % 1toddays

5 o 109 days
5 = 10to 12 days

4 = 131015 days
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Which sign is seen one week after an intrauterine foetal death due to irregular overlapping of cranial bones with
liquefaction of brain matter?
Options:

, = Stallworthy’s sign

- « Spalding sign
3 % Placental sign

4 = Piskacek’s sign

Question Number : 128 Question 1d : 50964713592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
What is Post-Mature Pregnancy?

Options:
, w Pregnancy that continues beyond 28 completed weeks

-~ % Pregnancy that continues beyond 40 completed weeks.

- » Pregnancy that continues beyond 37 completed weeks

4 « Pregnancy that continues beyond 42 completed weeks

Question Number : 129 Question Id : 50964713593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following initial mursing actions is to be performed when a nurse notices the umbilical cord protruding
from the vagina while performing a vaginal assessment on a pregnant lady in labour?

Options:
, = Perform per vaginal examination

> w Gently push the cord into the vagina

-  Place the client in Trendelenburg’s position

4 % Lower the foot of the bed
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Correct Marks: 1 Wrong Marks: 0.25
Where is the cord attached in a battledore placenta?

Options:

, « Tothe placental margin

> % To the centre of the placenta

- » Only to the membranes of the placenta

4 # Unattached to the placenta
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What complication should a pregnant lady be monitored for. who has been admitted to the hospital with a diagnosis of
severe preeclampsia in the last trimester?

Options:

, w Periods of foetal movement followed by quiet periods

-~ u Enlargement of the breasts

= » Complaints of feeling hot when the room is cool

4 « Evidence of petechiae and purpura
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Question Number : 133 Question Id : 50964713597 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following initial nursing assessments has to be performed on a pregnant lady after attaching the electronic
foetal monitor in the labor room?

Options:
1 « Assess the baseline foetal heart rate

-~ » Determine the intensity of the contractions

- w Identify the types of accelerations

4 = Determine the frequency of the contractions
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Question Number : 134 Question Id : 50964713598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Using Naegele's rule, determine the estimated date of delivery for a pregnant lady who arrives at the clinic for her first
antenatal assessment. The first day of her last menstrual period was 19 October 2018:

Options:
12 July 2019

1 ®

o 26 July 2019
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- w 12 August 2019

4 R 26 August 2019
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In which year was the Declaration of the Rights of the Child adopted by the United Nations?

Options:
1 ® 1947

> o 1959
s % 1963

4 % 1979
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.« 1963

. % 1979

Question Number : 136 Question Id : 50964713600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the expected response after tonic neck reflex is elicited?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 0

5 4
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Question Number : 137 Question Id : 50964713601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are the characteristic findings with regards to CSF afier a lumbar puncture is performed on a child who has
bacterial meningitis?

Options:

; = CSF is clear, decreased pressure. decreased proteins and increased glucose
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-~ u CSF is clear, decreased neutrophils, increased protein, decreased glucose

= # CSF Is cloudy. increased pressure, decreased proteins, increased glucose

4 « CSF is cloudy, elevated neutrophils, elevated proteins, decreased glucose

Question Number : 137 Question Id : 50964713601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0.25

What is Early-Onset Neonatal Sepsis?

Options:

. Infection that develops within 12 hours of being born.

I .

- w» Infection that develops within 24 hours of being born.

- » Infection that develops within 48 hours of being born.

4 « Infection that develops within 72 hours of being born.
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 139 Question Id : 50964713603 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following conditions means ‘red boy” according to the origin of its terminology?

Options:
1 « Kwashiorkor

-~ % Hemoglobinopathy

- u Cystic fibrosis

4 #% Marasmus

Question Number : 139 Question Id : 50964713603 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 140 Question Id : 50964713604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which deformity of the spine presents as an increased roundness of the thoracic curve?
Options:

1 % Scoliosis
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- % Lordosis

5 « Kyphosis

4 = Osteomyelitis

Question Number : 140 Question Id : 50964713604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 141 Question Id : 50964713605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

How much potassium chloride is present in an oral rehydration solution?

Options:
|« 15gm

25gm

|4

V]
gl

=1

b
®

Question Number : 141 Question Id : 50964713605 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation: Vertical
Correct Marks: 1 Wrong Marks: 0.25
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Options:

| & 1.5 gm
5 % 2.5 .gm
5 x 2.9 gm

4 % 35 gm

Question Number : 142 Question 1d : 50964713606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question Id : 50964713606 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the presenting symptom of a child with Hirschsprung’s disease?
Options:

, = Abdominal pain

> w Sausage-shaped lump felt upon palpating the abdomen

= « Ribbon-like stools

4 = Regurgitation of feeds

Question Number : 143 Question Id : 50964713607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a nursing care aspect for a child with haemophilia?

Options:
1 % Advise to use a soft toothbrush

- = Advise to keep fingernails short

5  Advise to get circumecised

4 = Advise to wear padded clothing and a helmet while playing

Question Number : 143 Question Id : 50964713607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question Id : 50964713608 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which of the following neural tube defects, there is a protrusion of meninges with spinal tissue and CSF?
Options:

; = Spina bifida occulta

> s Meningocele

5 = Myelocele

4 « Meningomyelocele

Question Number : 144 Question Id : 50964713608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question 1d : 50964713609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the level of blood glucose in a full-term baby who has hypoglycemia?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:
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Less than 20 mg/dl

—

Less than 30 mg/dl

-2

Less than 50 mg/dl

Ll

Less than 70 mg/dl

s

Question Number : 145 Question Id : 50964713609 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

, 20 mg/dl ¥ *H

, 30 mg/dl ¥ FH

., 50 mg/dl ¥ FH

, 70 mg/dl ¥ FH

Question Number : 146 Question Id : 50964713610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Which of the following is the correct sequence for phases of the bacterial growth curve?

Options:
, = Decline, log, lag and stationary
5 o Lag. log. stationary and decline

- w Log. lag. stationary and decline

4 = Stationary, decline, lag and log

Question Number : 146 Question Id : 50964713610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 147 Question 1d : 50964713611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How are Gram stain results differentiated between Gram-positive bacteria and Gram-negative bacteria?
Options:
|« Gram-positive results are purple, Gram-negative results are pink

- w Gram-positive results are pink. Gram-negative results are purple

5 » Gram-positive results are bluish-black, Gram-negative results are bluish-green

, w Gram-positive results are bluish-green. Gram-negative results are bluish-black

Question Number : 147 Question Id : 50964713611 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question Id : 50964713612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

addab

Choose the correct statement for Trousseau’s sign.
Options:
. « Ischemia induces carpal spasm by inflating the blood pressure cuff

> % Iwitching of facial muscles when the facial nerve is tapped

- w Iremor, rigidity. bradykinesia and hypokinesia

4 # Sudden and severe attacks of pain. swelling, redness and tenderness in the joints.

Question Number : 148 Question Id : 50964713612 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 50964713613 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mr. X underwent bariatric surgery and developed iron deficiency associated with dumping syndrome. Identify the
reason for iron deficiency anaemia for Mr. X.

Options:

. w Weak and unable to eat properly

~ # Severe loss of blood during surgery

-  Poor absorption of caleium and iron due to surgery

4 # Uncontrolled gastric emptying of fluids high in carbohydrates, into the small intestine

Question Number : 149 Question Id : 50964713613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id : 50964713614 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which part of the body releases catecholamines in response to stress?

Options:
; = Hypothalamus

> o Adrenal medulla
z % Cerebral cortex

4 % Adrenal cortex

Question Number : 150 Question Id : 50964713614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 151 Question Id : 50964713615 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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What is Telangiectasia?

Options:
L Dilated. superficial. cutaneous small blood vessels

- w Increased prominence of superficial veins

- » Hypertrophied scars beyond wound margins

4 w Redness occurring in patches

Question Number : 151 Question Id : 50964713615 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question Id : 50964713616 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Presence of clot and inflammation in a vein are features of which of the following options?

Options:
1 % Phlebitis

- % Alir embolism

5  Thrombophlebitis

4 % Haematoma

Question Number : 152 Question 1d : 50964713616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 153 Question Id : 50964713617 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is NOT related to the compensatory stage in shock?
Options:

. « Patient’s skin is hot and sweaty

- u Patient’s blood pressure remains within normal limits

- » Patient displays fight or flight response

4 % Aldosterone and anti-diuretic hormone are released

Question Number : 153 Question Id : 50964713617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question Id : 50964713618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
What is the normal PaCO, range of an arterial blood sample?

Options:
¢ 30to 40 mm Hg

R

5 % 35 to 40 mm Hg

5 o 35 to 45 mm Hg

4 % 401045 mm Hg

Question Number : 154 Question Id : 50964713618 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 30 ¥ 40 mm Hg

. » 35 ® 40 mm Hg
. » 35 ¥ 45 mm Hg

, » 40 & 45 mm Hg

Question Number : 155 Question Id : 50964713619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How is the Functional Residual Capacity (FRC) measured?

Options:

| % Expiratory Reserve Volume (ERV) - Inspiratory Reserve Volume (IRV) + Tidal Volume (V)

5 o Expiratory Reserve Volume (ERV) + Residual Volume (RV)

578 Inspiratory Reserve Volume (IRV) + Tidal Volume (V)

4 # Inspiratory Reserve Volume (IRV) + Residual Volume (RV)

Question Number : 155 Question Id : 50964713619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 50964713620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mr. Roy is diagnosed with bronchial asthma and is being treated for the same with corticosteroids. What are the
anticipated side effects?
Options:

. w lrritated throat, oral thrush, dry mouth

-~ » Bad taste, dry mouth, dry cough

-  Osteoporosis. obesity, immunosuppression

4 = Headache, dizziness, nausea, vomiting

Question Number : 156 Question Id : 50964713620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 157 Question Id : 50964713621 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a nurse evaluates an ECG and finds Saw-toothed P waves. then what would be the diagnosis?

Options:
1 % Adtrial fibrillation

- # Sinus arrhythmia

- » Premature junctional complex

4 « Atrial flutter

Question Number : 157 Question Id : 50964713621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 158 Question Id : 50964713622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Osler’s Nodes are a feature of :
Options:

1 « infective endocarditis

- % rheumatic endocarditis
¢ pericarditis

= &

4 = myocarditis
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Question Number : 158 Question Id : 50964713622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 50964713623 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The patient is posted for intravenous pyelogram. Which of the following is a correct intervention?
Options:

, « Assess for iodine sensitivity

- » Encourage fluid intake

5 » Administer analgesics

4 # Administer sedative

Question Number : 159 Question Id : 50964713623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question Id : 50964713624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A nurse is taking care of a patient with Syndrome of Inappropriate Antidiuretic Hormone (SIADH). Which one of the
following is a correct nursing intervention for this condition?

Options:
, = Position head of the bed at more than 10 degrees elevation

-  Restrict fluid intake to not more than 1000 ml per day

5 » Encourage complete bed rest

4 = Antidiuretic hormone supplementation

Question Number : 160 Question 1d : 50964713624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 161 Question Id : 50964713625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the classic manifestations of Parkinson’s disease.

Options:
, = Dysarthria, rigidity and bradykinesia

- u Bradykinesia, ataxia and dysarthria

- w lremolr, ataxia and drowsiness

4  Iremor, rigidity and bradykinesia

Question Number : 161 Question Id : 50964713625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 162 Question 1d : 50964713626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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A 30 year old adult met with a motor vehicle accident three days ago and has been diagnosed with fat embolism
syndrome. Identity the type of fracture that has occurred.

Options:
1 % Vertebrae fracture

-~ u Carpal fracture

= « Femur fracture

4 % Rib fracture

Question Number : 162 Question Id : 50964713626 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 50964713627 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which vear was the Child I abour Act passed?

Options:
1 % 1984
5 « 1986

5 % 1988

4 % 1990

Question Number : 163 Question Id : 50964713627 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

% 1984
- 1986
5 % 1988

, = 1990

Question Number : 164 Question Id : 50964713628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is Endogamy?

Options:
, « Marrying within the same cultural or ethnic group

Marrving a man belonging to a caste lower than the woman

.
i

Marrving a woman belonging to a caste lower than the man

Marrying into a different cultural or ethnic group

Question Number : 164 Question Id : 50964713628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question 1d : 50964713629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Separation of subject cases not longer than the longest usual incubation period is called:
Options:
1 % surveillance

- % isolation
5 % monitoring

4  Qquarantine

Question Number : 165 Question 1d : 50964713629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id: 50964713630 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

As per the International Health Regulations (IHR). occurrence of which of the following diseases is to be notified to
WHO?

Options:

, = Typhoid

> % Tuberculosis

5 « Flague

4 % Rabies

Question Number : 166 Question Id : 50964713630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 50964713631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The measurement of occurrence of some particular event in a population. expressed per thousand. at a given period of
time is known as:

Options:
1 % ratio

5 o late

- % proportion

4 = age specific proportion

Question Number : 167 Question Id : 50964713631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 50964713632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25

A type of research that is undertaken within a defined period of time on a group of people who share common
characteristics is called a:

Options:

, = casestudy

- u control study
5 o cohort study

4 = proportion study

Question Number : 168 Question Id : 50964713632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id : 50964713633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An endemic disease refers to:
Options:

, = disease imported from another country

- w constant presence of a disease in wide geographical areas

= % sudden outbreak of a disease

4 « constant presence of a disease in a given geographical area

Question Number : 169 Question Id : 50964713633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question 1d : 50964713634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT the way to acquire active immunity?

Options:
, = Exposure to the disease

-  Auntibody transfusion

% % Vaccination

4 = Exposure to subclinical infection

Question Number : 170 Question Id : 50964713634 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 171 Question Id : 50964713635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

dtab

Which committee is also known as the Health Survey and Development Committee?

Options:
1 % Chadha Committee

- « Bhore Committee
= % Mudaliar Committee

4 % Mukheree Committee

Question Number : 171 Question Id : 50964713635 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 50964713636 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option: No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
On which day of the menstrual cycle should oral contraceptive pills be started?

Options:
, » 1¥day

. % jfdday

5 o 5 day

4 ® 10t day

Question Number : 172 Question Id : 50964713636 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 173 Question 1d : 50964713637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an air borne disease?

Options:

. « Diphtheria

» » Hepatitis B

5 w Hepatitis A

4 % Filaria

Question Number : 173 Question Id : 50964713637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question Id : 50964713638 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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‘Lost to follow-up” in tuberculosis treatment means that the:
Options:
¢ treatment is interrupted for 30 days

e

> w treatment is interrupted for 2 doses

5 « (reatment is interrupted for 2 consecutive months or more

4 = patient dies during course of the treatment

Question Number : 174 Question Id : 50964713638 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id : 50964713639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The most common source of infection for botulism is:
Options:

1 #% contaminated water

-  canned vegetables

% % contact with infected cattle

4 ® lotten egg

Question Number : 175 Question Id : 50964713639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 50964713640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The free chlorine which is expected to be available after one hour of chlorination is:

Options:

Question Number : 176 Question Id : 50964713640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

 « 0.5 mg/l
5 % 1 mg/l
- » 2 gmll

4w 1 gmll

Question Number : 177 Question Id : 50964713641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Pea soup diarrhoea is feature of:
Options:
1 % rotavirus diarrhoea

- « typhoid
3 % cholera

4 w gastritis

Question Number : 177 Question 1d : 50964713641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question Id : 50964713642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A nurse asks a patient to remember an address. consisting of about four to five lines, that is not known to the patient.
About 5 to 10 minutes later, she asks the patient to repeat the address. Which aspect of the patient’s memory is the nurse
testing?

Options:
1 Immediate memory

> of Recent memory

- % Remote memory

4 = Delayed memory

Question Number : 178 Question Id : 50964713642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 50964713643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the therapeutic use of self?

Options:
, = Process of understanding one’s own beliefs. thoughts and motivations

-  The ability to use one’s personality consciously and in full awareness

- » Behaviours, feelings and thoughts about the individual known to him'her as well as others

4, = Private things about the individual known only by him‘her

Question Number : 179 Question Id : 50964713643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 50964713644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the therapeutic range of blood lithium level?

Options:

; % 0.5mEqQT to 1.5 mEq/L

- u 0.6 mEq/L to 1.0 mEqg/L

5 « 0.8 mEqT to 1.2 mEq/L

4 % 1.OmEQL to2.0 mEqT

Question Number : 180 Question Id : 50964713644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, % 0.5 mEg/L ¥ 1.5 mEg/L
, » 0.6 mEg/L ¥ 1.0 mEq/L

. » 0.8 mEg/L & 1.2 mEq/L

. = 1.0 mEg/L & 2.0 mEq/L
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Section Id : 509647541

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 50964713645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bleuler’s four A’s of schizophrenia include all of the following, EXCEPT:

Options:
1 % affective disturbance

- % autistic thinking

z % ambivalence

4 « auditory hallucinations

Question Number : 181 Question Id : 50964713645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option: No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 182 Question Id : 50964713646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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A patient experiencing mania says, “We can, pan, ran. plan...” This can be identified as:

Options:
1 % word salad

- % echolalia

5  Cclang association

4 % elation

Question Number : 182 Question Id : 50964713646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question Id : 50964713647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the term used to describe an irrational fear of being in places away from the familiar setting of one’s home?

Options:
, w» Brontophobia

-~ # Claustrophobia

-  Agoraphobia

4 # Acrophobia

Question Number : 183 Question Id : 50964713647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question 1d : 50964713648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A client expresses the feeling that armed forces are out to kill him. This could be an example of:

Options:
; = delusion of jealous

-  delusion of persecution

- » delusion of infidelity

4 = delusion of grandiosity

Question Number : 184 Question Id : 50964713648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 50964713649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Which of the following is NOT a symptom of alcohol withdrawal?

Options:
1 % Tremors

5 % Profuse sweating

= % Persistent insomnia

4 « Redness of the face

Question Number : 185 Question 1d : 50964713649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 186 Question Id : 50964713650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Distrust of other people and constant unwarranted suspicion is seen in which of the following personality disorders?
Options:

; = Schizoid personality disorder

-~ = Antisocial personality disorder
-  Paranoid personality disorder

4 = Schizotypal personality disorder

Question Number : 186 Question Id : 50964713650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 50964713651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a sign of Alzheimer’s Dementia?

Options:
; = Memory loss

- % Disorientation

Misplacing things

i
®

i Loss of weight

Question Number : 187 Question Id : 50964713651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 188 Question Id : 50964713652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a risk factor for mania patients with suicide tendency?

Options:
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1 % 5fress
> % Isolation
z « Grandiose ideas

4 = Hyperactive behavior

Question Number : 188 Question Id : 50964713652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 189 Question Id : 50964713653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Relatives of Mr. Alex admitted him to a psychiatric hospital after an application made to a magistrate supported by two
medical officers. According to the Indian Mental Health Care Act, Mr. Alex got admitted under which of the following
types of admission?

Options:

; = Admission under voluntary basis

-  Admission under reception order

5 = Admission after inquest order

4 w Admission under special case

Question Number : 189 Question Id : 50964713653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 190 Question Id : 50964713654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is meant by thought broadcasting?

Options:
, % Unpleasant expression of thoughts

-  Delusion that one’s thoughts can be heard by others

- % Delusion that one’s thoughts are being controlled by others

4 = Experience of thoughts being removed from one’s mind

Question Number : 190 Question Id : 50964713654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 50964713655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The purpose of social guidance is to:

Options:
. w identify learning difficulties

- % assist individuals in physical development
-  develop leadership qualities

4 # help students develop hobbies

Question Number : 191 Question Id : 50964713655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question Id : 50964713656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The subject matter. clinical experiences and practices that the faculty plans and implements for a particular group of
students is called:

Options:
; = Pphilosophy

> o curriculum

- % Cclinical teaching method

4 # counselling
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Question Number : 192 Question Id : 50964713656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question Id : 50964713657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The supervisory style where a nursing supervisor behaves like a parent and gives constant guidance and direction to
his/her subordinate(s) is called a:

Options:
, = democratic style

- % autocratic style

-  benevolent style

4 w informal style

Question Number : 193 Question Id : 50964713657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 194 Question Id : 50964713658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The answerability of a staff nurse to his‘her nursing superintendent is known as:

Options:
, = responsibility

-  accountability
- u authority

4 = delegation

Question Number : 194 Question Id : 50964713658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question Id : 50964713659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The process of analysing the intrinsic value of the material for achieving the objectives of an organisation is called:

Options:
, = inventory analysis

- » material analysis

5 u buffer analysis
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i value analysis

Question Number : 195 Question 1d : 50964713659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et Tard & HaRs Tew & Reewer &= i, S B v & 32w 9 @, 39 Fed
Options:

4$ﬁwﬁﬁm

Question Number : 196 Question Id : 50964713660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A superior and subordinate relationship based on the number of levels of responsibility, reaching from the top to the
bottom of the organisation. is known as:

Options:

1 #% decentralisation

> % spanof control

- % unity of command

4 + scalar chain

Question Number : 196 Question Id : 50964713660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question Id : 50964713661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A type of sampling method that is used whenever it is hard to locate subjects by the researcher’s own self is called:

Options:
, = sequential sampling

-  snowball sampling

5 u stratified random sampling

4 = Systematic random sampling

Question Number : 197 Question Id : 50964713661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 198 Question Id : 50964713662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The technique that measures a person’s responses to unstructured stimulus is known as:
Options:

, = random technique

- u Delphi technique
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5  Projective technique

, = reflexive technique

Question Number : 198 Question Id : 50964713662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 199 Question Id : 50964713663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In cross sectional research designs, the data:
Options:

, = Is collected over a period of time

- = collected dates back to the past

= u Is collected over an extended period of time

4 « 1is collected at a particular point

Question Number : 199 Question Id : 50964713663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 200 Question Id : 50964713664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The measurement of numerical value of a population is called:

Options:
1 % static

5 of parameter

-z % median

4 % precision

Question Number : 200 Question Id : 50964713664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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